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l;+=g+= sfo{qmd /sd ? s}lkmot 
1 dfl;s ;ldIff a}7s vr{ -!@ dlxgf * j6f :jf:Yo ;+:yf_ 1,82,000.00  
2 aflif{s ;ldIff  50,000.00  
3 sfof{no ;xof]uL tna ;zt{df gk'u 3,27,000.00  
4 kf]i6 df6{d yk pTk|]/0ff /sd 8fS6/nfO{ 20,000.00 k|lt s]z ? !))).)) 
5 kf]i6 df6{d vr{ :jLk/nfO{ / ;fdfg v/Lb -ldSnfh'ª 

ufpFkflnsf leqsf] s]znfO{ dfq 
30,000.00 k|lt s]z ? #))).)) 

6 k|fylds :jf:Yo s]Gb| /ladf c=g=dL= s/f/ tna 1,95,000.00 dfl;s ? !%))).)) 
 k|fylds :jf:Yo s]Gb| /ladf x]=c= s/f/ tna 1,60,000.00  
7 cg'udg tyf e|d0f vr{  36,000.00  
 s'n hDdf 1000000.00  

 


